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Paper : 5.4
( International Trade : Theory and Policy )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x7=7

o 2P Ted e
(a) According to Ricardo, what is the basis
of international trade?

ReoR oo, TEEes Afee fofe /2

(b) Write True or False :
7 G SR ferd
Heckscher-Ohlin model will be valid
when factor-intensities are reversal.
oA -2 [4eRe9] 207 emR-= R o
R TI |

() What does backward shifting of an offer
curve mean?

LQWWT PO “fRaéa @RIGE &

(d) Who developed the concept of Net
Barter terms of trade?

i RIE T 801 @ T it 2
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(2)

(e} What is protection?

AT 5 2
() Define reciprocal demand.
TR BIRAR wigeat fea |
(g) What is unilateral quota?
TR SR AR R 2
Answer the following questions : 2x4=8
O PR T fapey

(@) State any two factors affecting gains
from International trade.
EEOF AfeH Aoe geie wq [ Gara)
01 ToAP o4 |
(b) What was the empirical result of
Leontief’s study?
R SR wufefes woree 6 wfser 9
() Define income terms of trade,
T q1fen 563 wgwy fiay |
(d) Give two non-economic arguments in
favour of protection.
RIFAI T 751 S-S s iy |
Answer any three of the following questions :
Sx3=15
O 2PPTRA [ Gle e e e
(a) Between classical theory and modern
theory of international trade, which one

do you think superior and why? Give
reasons in favour of your answer.

% e sirEife vy W SEET weg
ISICEG @’s‘{ G o iﬁ'f Sl P@.{?
COTHI $&R 3fefcs prepigz, wif 41 |

(Conﬁnued)

RS

(b)

(c)

@

(e)

ool

(@)

(3)

Explain the utility-linked terms of trade
by using usual notations.

eI TECEes PETHE TN IR TAfTeR
oiCs g eI SEHR I |

Briefly explain the limitations of the
‘comparative cost advantage’ theory.

e AT S ST S
BIESIEEIN

Explain th'e c:::lilt;(ﬁt;:i:n of tariff on the
%%%d% waq A e
ESIN

Between tariff and quotas, which one is
superior and why?

@%Wﬁﬁmqﬁtﬁ?‘f‘iﬁww @ T
e 59 7

4. Answer the following questions : 10x3=30
fapEb Sl Teq fordl ¢
Explain the factors affecting terms of o
trade of a country.
o oeR AR 76T 4TINS T FEETR
e 41 |
Or / Sl
“Trade e :siain- an engine o
‘g‘zf:%tﬂh ;WIFWF R % g T
4] |
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(b) Define factor-abundance. What
happens to the validity of
Heckscher-Ohlin model when demand
conditions are different in two
countries? Explain with a suitable
diagram. 2+8=10
om-epor sike i1 @fem v o
ofEn o8 o W ofu @ER-IRE v
(Iuor & 46 2 Toe foed T2 3wy |

Or / 5241

Argue the case for free trade in the
context of present global scenario. 10

Arefesr SR fureE ~Tefe T& it
e e el |

(c) Discuss the various effects of tariff
under partial equilibrium analysis. 10
SRR ST Resee ww [fen demeny
ey s 441 |

Or / %<1

Define optimum tariff. Explain with a
suitable diagram how optimum tariff is
determined. 2+8=10

FRO-GH A% | S-S e [dEe w4
=, SR fouq srare = 41 |
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